
Włączenie do istn. studni Si 45,69
48,28

K1
48,20

K2

S1 45,85
48,90

S2 46,41
50,10

S346,47
50,40

K3

K5

S4 46,72
49,50

K4

S5.147,44
49,14

K7

S546,80
49,40

S6.147,00
48,40

S646,95
48,80

L=6.0m

PVC 160

L=7
.7mPV
C 1

60

PVC 160

L=7.4m

PV
C 1

60 
 L=

25.
8m

L=9.4m

PVC 160

L=9
.2mPV

C 1
60

PVC 160  L=37.9m

PVC
 160

L=8
.4m

PV
C 1

60
L=

13.
2m

PVC 160L=11.4m PVC
 16

0
L=6

.0m

PV
C 1

60
L=

10.
8m PVC 160  L=22.8m

PVC
 160

L=4
.2m

Si.146,80

S1.147,20
48,90

K8

S3.1 48,28
51,44

S4.147,08
49,30

S4.2 48,10
50.80

K6

S5.2 49,41
50,15


	Arkusze i widoki
	Rys 1


